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Is also exp. 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size, 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Past history 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31 and 12 similarly. 



1 

0 

0 

0  1 

2 

0,1 

0 

1 

3 

DFA intersecZon :   

1 

1 

0 

0 

0  1 

2 

0,1 

1 

1 

3 

0 

00 

13 
0 

31 
1 

11 
0 

21 
1 

0 

1 

0 

02 

1 

30 

1 

0 

1 

Finish 31 and 12 similarly. 



1 

0 

0 

0  1 

2 

0,1 

0 

1 

3 

DFA intersecZon :   

1 

1 

0 

0 

0  1 

2 

0,1 

1 

1 

3 

0 

00 

13 
0 

31 
1 

11 
0 

21 
1 

0 

22 
1 

0 

1 

0 

02 

1 

12 

0 

30 

1 

0 

1 

Finish 31 and 12 similarly. 


